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A= SRR FA s
HE: ooy MeY s
e RV EETEE ST CERED
- _ _ RE]
SoSN - SH(EH) - NEAY - B %Eﬁ HR=2
HENBIE RN =X 267,400 656,400 A 389,000
201 gBt24d| 12,000 16,000 A4,000
01 AP 22| H| 12,000 16,000 A4 ,000
Ogsrs2y| 10,000
O MR EANLRNELNEROUS 10,000
o294 2,000
oAz L4Y 2,000
203 ¥ R = &H]| 5,000 5,000 0
03 Al ZH =X 2= XH| 5,000 5,000 0]
OgIAMEE L= 5,000
207 I | 120,000 0 120,000
01 | 120,000 0 120,000
20| & X0 = AMTR U0 X =HE XA 120,000
303 A2 400 400 0
01 ZAZ 400 400 0
O4UTEAHRITBLAA Y 400
308 XX SHHSOIH 130,000 15,000 115,000
01 AIXSHMENEXZ 130,000 15,000 115,000
OSSN MSUNIESAHEINYE 10,000
(OSHEMUAHNNIBSO2AUAALASH 120,000
CtE AL & X 387,000 597,700 A 210,700
Xl 360,000
& 27,000
403 XX SHS K20 & 387,000 597,700 A 210,700
Xl 360,000
&< 27,000
01 AXESHIE2E X 387,000 597,700 A 210,700
OU=2HEAINAEX(KNEZHI) 387,000
Xl 360,000
= 27,000
DEESHEsFELEUH XA 340,002 310,050 29,952
=2 261,540
= 78,462
403 XX SHS K20 & 340,002 310,050 29,952
=2 261,540
= 78,462
01 XIS A2 X 340,002 310,050 29,952
ONS8HESSEAEH X 327,600
= 252,000
= 75,600
O ADHEAAE RS 12,402
= 9,540




A= SHALI=R S R N R}
HE: ooy MeY s
Sl 0PI YRR CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| < 2,862
HEoHE 0 AIH AL 2,173,629 1,993,057 180,572
= 1,926,000
< 247,629
403 Mt SHHSA=0l& 2,173,629 1,993,057 180,572
= 1,926,000
< 247,629
01 HIXSHMA2E X 2,173,629 1,993,057 180,572
Ol 2 AIE ALY 2,173,629
= 1,926,000
< 247,629
HIAHHY A= F(HOH) 1,632,000 1,564,920 67,080
= 1,482,000
< 150,000
403 X SHHE A0l & 1,632,000 1,564,920 67,080
= 1,482,000
< 150,000
01 AXISHHA=2E = 1,548,000 1,480,920 67,080
DAY X=X A 1,548,000
= 1,440,000
< 108,000
02 S| 2 S0il CHSHCH & A B 84,000 84,000 0
A S A B E A} 84,000
= 42,000
< 42,000
HERLH AN E A REH X 600,000 400,000 200,000
308 XXM SO0 A 600,000 400,000 200,000
01 HIXNHHNBNEES 600,000 400,000 200,000
OEJLHETHHEMN SRS X 600,000
THEUXNE=MEEMAIE A 116,272 258,000 A 141,728
= 108,160
< 8,112
308 XXM SOIA 116,272 258,000 AN 141,728
= 108,160
< 8,112
01 AXHHIYEES 116,272 258,000 A 141,728
Oxd=cl A== A FH| 4,472
= 4,160
< 312
OXAd=el NGNS HE=2 S 111,800
= 104,000
< 7,800
HENHEg2ZTRS 18,661,660 19,039,710 A 378,050
= 143,200
Xl 9,164,000




SHALHEER PN S0
e R
HEojgTITAADS
CRA - FH - S(BH) - HRAY - BES il &t o il
< 9,354,460
HEAld 5,931,000 5,931,000
403 XA SA=0l& 5,931,000 5,931,000
01 HXSHMA2E X 5,931,000 5,931,000
OXEASEAIE 3,000,000
ogAg 200,000
OLBxg 300,000
oz&Eg 200,000
O Mgt 200,000
(OF =14 200,000
Oo=&¥ 250,000
(OFsE -1 1,200,000
OEHotg 450,000
Oa7208Ad 2,500,000
Ogxelg 60,000
oaZelg 90,000
Ood &1 90,000
Odt&1,22 g 105,000
og=clg 60,000
Otisti1el g 90,000
ogoelg 30,000
OXAtel & 30,000
OAR 12l & 90,000
OL&2elg 90,000
O& &3l 30,000
O7er2el g 60,000
ogdiel g 90,000
Os&clg 70,000
Ost&l el & 30,000
(OFSEyll-ly 90,000
ODtatel g 45,000
=3 120,000
HArg 120,000
oz 32¥ 120,000
O&AE 70,000
Oz&1g 90,000
O2z2g 60,000
O&3E 90,000
Oo=8g 90,000
osdg 220,000
Oos3ae 120,000
OU==&dg 250,000




M ox
40 5 4

- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OXNEHSHEAEL X 22 K& 251,000
OsHIEALHI DAL 180,000
ofl 2F 8t X At 500,000 800,000 A 300,000
401 Al HI L 204 HI 500,000 800,000 A 300,000
01 Al&H| 500,000 800,000 A 300,000
OXNEHEIIS2HELESHAISHE I} 500,000
HEHEHZ I REFA 33,500 34,250 AT750
201 B9 5,500 5,500 0
01 AP 22| H| 5,500 5,500 0
2| 5,500
OHEHS2AZUITRAFHRFAS A 5,500
202 o4 H| 28,000 28,750 AT750
01 2L HI 28,000 28,750 AT750
[JHEWHES2ZAIZREAHARFZX N HI 28,000
NgosgHa 6,642,500 5,875,000 767,500
Xl 5,314,000
& 1,328,500
401 AlEHIZL 2 0HY| 6,642,500 5,875,000 767,500
Xl 5,314,000
& 1,328,500
01 Al&H| 6,616,000 5,851,500 764,500
OXegsHE (XNEZH]) 6,616,000
Xl 5,292,800
& 1,323,200
03 Al&E 201 Y| 26,500 23,500 3,000
OXNgHst AL 2HEI (KIEZH|) 26,500
N 21,200
& 5,300
CIZZ=AIE (HARRAMAXEA) 4,375,000 3,767,500 607,500
Xl 3,500,000
& 875,000
401 AlEHIZL 2 0HY| 4,375,000 3,767,500 607,500
Xl 3,500,000
= 875,000
01 Al&H| 4,345,000 3,741,630 603,370
20 E=AIE(KNEZH|) 4,345,000
N 3,476,000
o 869,000
03 A& E2HH| 30,000 25,870 4,130
OCZ0HEAEEUHHI(KNIEZH|) 30,000
Xl 24,000
& 6,000
HEHEZ2 (HARRAAXES) 437,500 500,000 A 62,500




A3 shogmEs SH L AMTED
g g3 Y=t
Helr HEqS2ZAICIS (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Al 350,000
< 87,500
403 X SHHS =0l & 437,500 500,000 A 62,500
X 350,000
< 87,500
02 S| 2 S0l CH&HCH & A B 437,500 500,000 A 62,500
HEOEB(NSTH) 437,500
Xl 350,000
< 87,500
HEMEOISXA 156,160 63,960 92,200
= 143,200
< 12,960
308 XtXIEHH SOl A 56,160 63,960 A7,800
= 43,200
< 12,960
01 X HHILEES 56,160 63,960 A7,800
OHEMEISMR2EHEXA 56,160
2 43,200
< 12,960
403 X SHHSA=0l& 100,000 0 100,000
= 100,000
01 HXSHMA=E X 100,000 0 100,000
OHEMEOSLESAY 100,000
= 100,000
HAOHHICIS Z (2 F X H) 300,000 400,000 A 100,000
403 MtXISHHE A0l & 300,000 400,000 A 100,000
01 XM A2 X 300,000 400,000 A 100,000
JootHttt =& x4 300,000
HEazayds 286,000 283,000 3,000
308 XtXIEHH SOl A 15,000 0 15,000
01 AXHHILEES 15,000 0 15,000
OQYoSMZ(HasHA)224EL=RE 15,000
403 MHXSHHSA=0l& 271,000 283,000 A 12,000
01 HXSHMA=E X 271,000 283,000 A 12,000
OoEgsiotsxd 45,000
OdEMeos=sd 42,000
OHEd+-SSANEEEL 154,000
OEHHAIZE 4R 30,000
AU USHAE 5,624,360 8,617,428 A 2,993,068
= 2,201,000
Xl 1,226,000
= 2,197,360
SAZIRNTHZSS 176,000 194,000 218,000




8

43 sHozEEs 2 A
HE: LMo F AL
Sl RSO S IS (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 176,000 194,000 A 18,000
01 X SHMA2E X 176,000 194,000 A 18,000
OW=BHAAZINNSS 40,000
Ool+=SHAAAHEIN NS = 136,000
= &ETHOH CHHI M 3 A A X & 50,000 50,000 0
403 UHXISHHE X201 H 50,000 50,000 0
01 X SHHX2E= 50,000 50,000 0
[J==&HTHOH CH B X 3} & A X & 50,000
HWHHZAELHE > 60,000 60,000 0
403 UHXHHSA=0l& 60,000 60,000 0
01 HXSHMA2E X 60,000 60,000 0
OUW==SHAHZAIELMES> 60,000
1o & 2t el 60,000 210,000 A 150,000
403 MtXISHHE A0l E 60,000 210,000 A 150,000
01 HIXSHHMA2E X 60,000 210,000 A 150,000
IESES =N 60,000
Bt =X & ALY 350,000 250,000 100,000
403 XIS E X201 E 350,000 250,000 100,000
01 X SHHX2E = 350,000 250,000 100,000
Ot =8 At 350,000
HEANLSSUIIEIEYE 881,000 858,000 23,000
308 XX EHHSOIA 75,000 0 75,000
01 HXNHHNBHELS 75,000 0 75,000
OxaxMEHAHEEZ XA 75,000
403 MtXISHH S0l & 806,000 858,000 A52,000
01 XM A2E X 806,000 858,000 252,000
O0rS 0l E 28 Bt I S 01 150,000
Ooi "l =7 M A 84,000
OZMAXHSEF 400,000
OSANFTSIUXA 100,000
OSsSHIEASSHIT LN 72,000
SZES GO SHSASEFT 46,000 40,000 6,000
201 Let24E] 1,000 5,000 A 4,000
01 At 22l 1,000 5,000 A 4,000
O=2dg=¢ 1,000
OB =goslzZaasdsy 1,000
202 O4dl 15,000 15,000 0
01 = LH 4 bl 15,000 15,000 0




SHALHEER M LA ED
S =E LR
SRS OSEIFAE (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
OSZ2sEHEIOSHSFAE LR FE NI 15,000
301 et a s 30,000 20,000 10,000
01 A EE E 563 30,000 20,000 10,000
D& SH A& 30,000
SAMEEHAMAIZ S 74,000 100,000 226,000
= 74,000
403 A X EHHS =0l A 74,000 100,000 226,000
= 74,000
01 X EHHMA=LE L 74,000 100,000 226,000
Ot sdAA|HAIZ 74,000
= 74,000
SUZR2HLLF(HYNAMATZH) 705,200 712,128 N6,928
Xl 656,000
< 49,200
403 Ut SHHSA=0l& 705,200 712,128 26,928
Xl 656,000
< 49,200
01 HXSHMA2E X 705,200 712,128 N6,928
O=4ERQHLLF (XS 705,200
Xl 656,000
< 49,200
HEHAXRE22SSHAA 1,802,960 3,428,600 A 1,625,640
= 1,454,000
< 348,960
403 XIS E X201 H 1,802,960 3,428,600 A 1,625,640
= 1,454,000
< 348,960
01 X SHHX2E = 1,802,960 3,428,600 A 1,625,640
O Nsel E2sHAA 1,802,960
= 1,454,000
S 348,960
SUERURSHEM(HLRVBMAXZY) 87,500 100,000 £ 12,500
Xl 70,000
< 17,500
403 A X EHHS 20l A 87,500 100,000 A 12,500
Xl 70,000
= 17,500
02 I 2SO0l CH &HCH & AF 2 HI 87,500 100,000 A 12,500
OxMESRYFSBTA(NSEHI) 87,500
Xl 70,000
= 17,500
NUERHEES XA 37,700 37,700 0
= 29,000
< 8,700




A= SRR FA s
HE: LMo F AL
Sl BSOS IS CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 37,700 37,700 0
2 29,000
< 8,700
01 X SHMA2E X 37,700 37,700 0
ONUECR2EEZ XA 37,700
= 29,000
< 8,700
HAEHSENEAS 4,000 266,000 A 262,000
= 4,000
308 XXM SOIA 4,000 266,000 A 262,000
= 4,000
01 IXNHHBANEES 4,000 266,000 A 262,000
O8I Es Y2 4,000
= 4,000
Soletof &AM ARH 650,000 650,000 0
Xl 500,000
< 150,000
403 A X EHS =0l A 650,000 650,000 0
Xl 500,000
< 150,000
01 X EHHMA=E L 650,000 650,000 0
Osoiotal A A MASH(XNETH) 650,000
Xl 500,000
< 150,000
<l ol 4 = =2 Kl AHY 640,000 560,000 80,000
= 640,000
308 XX EHSOIA 640,000 560,000 80,000
= 640,000
01 HIXNHHNBNEES 640,000 560,000 80,000
OIHMES2HAL (HX) 550,000
= 550,000
O M2 2 HMAL (SHItel) 90,000
= 90,000
detsa223 21,929,445 17,201,145 4,728,300
= 148,000
X 14,606,000
< 7,175,445
o S FHOLEHI K& 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 It S AIHE L 20,000 20,000 0
O e FtEHI X2 20,000
NSRS HL 717,000 500,000 217,000
403 XSS A=0l& 717,000 500,000 217,000




SoorzmEEs SN SMEED
S =E LR
NeEsMSEE (crl ®a)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 HXSHMA2E X 717,000 500,000 217,000
MBS EHENLLRAEIN X 224,000
Ouatsi A2 IsaEasSE 50,000
Ox=MES™HelMEALXS 210,000
OXNGEMMSIHISAEAL 72,000
O+==8ZZ M 30,000
OWHEN=SHHNE = 114,000
OHFAE XA 17,000
N Est=o =2 AHEA 96,000 ,000 0
308 XX EHSOIA 96,000 ,000 0
01 HXNHHNBNEELES 96,000 ,000 0
OXNESst=a28AHFA 96,000
FMEISAE 0N A 22 (HACCP) 21 X & 84,000 ,000 21,000
403 MtXISHHE X201 & 84,000 ,000 21,000
01 XM A=2EE 84,000 ,000 21,000
O==4a20 3 A& 201 4 22l (HACCP) &l X & 84,000
At =4tk = A HI X & 40,005 ,005 0
308 XXIEHH SOl A 40,005 ,005 0
08 WFJ|20UstE=x 40,005 ,005 0
OXg a0t a5 A H XA 40,005
HEEHANRF=SHXA 100,000 ,000 0
308 A EHHSOIA 100,000 ,000 0
01 HXNHHNBMNELS 100,000 ,000 0
O0dEHNER=SHIXE 100,000
HEERFHXA 507,000 ,000 0
308 AXIEHHSOIA 507,000 0 507,000
01 IXNHHBENEES 507,000 0 507,000
gogEssoxa 507,000
QANRAMSHA2SH R 21,000 ,000 0
308 XXIEHHSOIA 21,000 0 21,000
01 AXHHIYEES 21,000 0 21,000
OB SHA2SH XA 21,000
EFEESAS 23,000 ,000 3,000
308 XtXIEHHSOIA 23,000 ,000 3,000
01 HXNHHNBHELS 23,000 ,000 3,000
OHERE =S AHASAA 23,000
HANHETEHBHIXA 10,000 ,000 0
307 glz2tol & 10,000 ,000 0




A= SRR FA s
HE: ooy MeY s
ol AMESAN2D (ctel:&2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
02 It M AHE L 10,000 10,000 0
Ostdei s e 2 (TACO) AL E AT X 10,000
g2 3 63,240 63,240 0
308 XXM SOIA 63,240 63,240 0
01 AXHHBILEES 63,240 63,240 0
O=E2XNES 52,320
ORsHgeloiel = 10,920
St EESF 16,000 20,500 A 4,500
201 24| 6,000 5,500 500
01 At 2t 2/l 6,000 5,500 500
O=gl 6,000
Ouldet=ttEd3aFdS4 6,000
202 Odl 10,000 15,000 A5,000
01 = LH 4 Hi 10,000 15,000 A5,000
DA+ 222 LR 10,000
=S LTI OB AIE 3,055,000 2,519,400 535,600
Xl 2,350,000
< 705,000
403 MtXISHH S =0l & 3,055,000 2,519,400 535,600
Xl 2,350,000
= 705,000
01 XM A=2E X 3,055,000 2,519,400 535,600
O8NS AE (RISEHI) 3,055,000
Xl 2,350,000
< 705,000
SMASHEHI Y 10,017,800 3,697,000 6,320,800
Xl 7,706,000
< 2,311,800
403 A X EHHS =0l A 10,017,800 3,697,000 6,320,800
Xl 7,706,000
= 2,311,800
01 X SHHX2E = 10,017,800 3,697,000 6,320,800
OWHIIMASNBHIAZTE (ANESY) 5,590,000
Xl 4,300,000
< 1,290,000
OFS2UAMELNZTLE(ANESY) 4,427,800
Xl 3,406,000
< 1,021,800
TUSUMTHESSHHAE 1,470,000 0 1,470,000
Xl 1,200,000
< 270,000
403 XIS E X201 & 1,470,000 0 1,470,000
Xl 1,200,000




A= SRR FA s
HE: LMo F AL
Sel MEBANBEE (29l & 2)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
== 270,000
01 XM A2E X 1,470,000 0 1,470,000
OxMESMTANERESLAH(FPC)HE (NSSY) 1,470,000
Xl 1,200,000
< 270,000
SAUESSSIHSANESHUS 1,235,000 650,000 585,000
Xl 950,000
= 285,000
403 XIS E X201 E 1,235,000 650,000 585,000
Xl 950,000
< 285,000
01 X SHHA2E= 1,235,000 650,000 585,000
SMEBSIHBAMEEUHIH(NES L) 650,000
Xl 500,000
< 150,000
OxMEXMUAMBAL(NSESY) 585,000
Xl 450,000
< 135,000
SAMAELSF D WAL 125,000 165,000 240,000
= 125,000
308 XtXIEHHSOIA 125,000 165,000 A 40,000
= 125,000
08 WHII20HStE = 125,000 165,000 240,000
Ox=&AELEst DD X3 A 125,000
= 125,000
Z DA AEZIINE 41,400 49,500 A 8,100
= 23,000
< 18,400
403 X EHHSH20lA 41,400 49,500 A8,100
= 23,000
< 18,400
02 S| 2SO0l CH&HCH & AF B 41,400 49,500 A 8,100
O DMHM2IHNE2H 41,400
= 23,000
= 18,400
Jlsd=t=82X3 35,000 50,000 A 15,000
307 glz2tol & 35,000 50,000 A 15,000
04 QIZFHALAIH E = 35,000 50,000 A 15,000
DIsd=dME82X& 35,000
Saiags iRl R oD R! 73,000 65,000 8,000
307 glz2+ol & 73,000 65,000 8,000
02 HAFHAANHEEE 35,000 25,000 10,000
O dBHNAS I AE X 35,000
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M ox
40 5 4

SHogEzs
HHS YA (FMTED)
S

[106/07H = XI O & D1 20| XH&F &

367,500

2 - 4
SR HE . (BH) - MEA Ol At o %@ﬁ HRE2
OAMEE2I|I8 X | 5,000
202 04d| 10,000 AN 3,250
01 2L HI 10,000 A 3,250
ORI =Y REA O 10,000
MEES(EMEED) 1,767,500 A 49,000
WEHN K= 1,767,500 A 49,000
06/07E T X2 StAI & (X EIHED|2) 1,767,500 A 49,000
705 Oll=2 2 24 1,767,500 A 49,000
03 Al - EXYHED S22 48 1,400,000 0
06/07H =X LD ISR =2
o) 1,400,000
04 Al - S XYEHED| S0 £=20| XFatst 367,500 A 49,000




= o
A & 0l & AF 2 E A A
AR SRRz SN ST
HM: SCHELS
Sl STYRAYS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SN2 8,684,698 6,135,360 2,549,338
= 4,040,000
< 4,644,698
ECIESS 8,607,838 6,050,760 2,557,078
= 4,040,000
< 4,567,838
SR R el 8,607,838 6,050,760 2,557,078
= 4,040,000
< 4,567,838
SCHFUAAX A 12,000 12,000 0
308 XX EHHSOIA 12,000 12,000 0
01 AXHHILEES 12,000 12,000 0
O=SZHFEIIX A 12,000
SEEFU=SARINE 121,429 121,429 0
= 100,000
< 21,429
308 MtXIEHMSOIH 121,429 121,429 0
= 100,000
< 21,429
01 HXNHHNBHELS 121,429 121,429 0
O=SEFU=A2AXR 121,429
= 100,000
= 21,429
S22 Hd2IR2 1,275,000 1,275,000 0
= 1,050,000
< 225,000
308 XX EHHSOIA 1,275,000 1,275,000 0
= 1,050,000
< 225,000
01 IXNHHBNEES 1,275,000 1,275,000 0
Ost2eld2d X3 1,275,000
= 1,050,000
< 225,000
SCEsA2INR 750,000 750,000 0
= 500,000
< 250,000
308 XX EHH SOl A 750,000 750,000 0
= 500,000
< 250,000
01 X HHILEES 750,000 750,000 0
O=szys22d i 750,000
= 500,000
< 250,000
SCe =2 2L MR 1,500,000 0 1,500,000
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N = 0 &8 AFH Y & A AN
A3 shogmEs SH L AATIRARA
M HIOSESFERIIAS
Sl AMRREY (er:@e)
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
A2 A 8,244,194 5,103,037 3,141,157
2 2,500,000
T 5,744,194
S XRI|IAE 6,793,037 3,757,012 3,036,025
= 2,500,000
T 4,293,037
NExd 6,460,745 3,490,247 2,970,498
= 2,500,000
= 3,960,745
RN P =T 741,745 735,247 6,498
101 2124 d| 73,945 67,937 6,008
04 J|2tH 22 NHEE 73,945 67,937 6,008
OMSXIIHH A2 IR 44,6402 x1H x240! 10,714
CICHAHI KT A A A 2Ee | 01T 221 44 640 3 x 1H %2402 10,714
OSSN HHA2ALNREA 44,6403 x1H x240! 10,714
Oolatetel & gol 2 44,6403 »3H x20 2,679
Od=XHetete| Hgolf2e 44,6403 »7H x20 6,250
Osdgagdo 2 44,6403 x5H x 10 2,232
[HES=E =y 44,6403 x4 x30 5,357
Oseda2f2axg 44,6403 *1.5x3H 8L x12& 19,285
Os5thAtg 2 8 6,000
201 LEt2 A Y| 250,000 243,000 7,000
02 33249l 245,000 239,000 6,000
O222=22HA 111,000
OMMESEI=E 111,000
O ZH| 125,000
OMMSHI2REUH 125,000
O XteF & Bty 9,000
oxEaNHERSUH 9,000
03 S AIS H | 5,000 4,000 1,000
OZZYSHAIS 5,000
202 04| 18,000 18,000 0
01 2LH O HI 18,000 18,000 0
ORI ESERFE 0 18,000
203 YR & b 5,000 5,000 0
03 A =X R =XH| 5,000 5,000 0
OFMREELIPLARALEX 5,000
204 &R = A H| 9,600 9,000 600
03 S8 RZEH| 9,600 9,000 600
Ooholg sl 50,0003 x16H x12& 9,600
206 = bl 99,000 120,010 A21,010
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A21,010

900
900

H3r
Wikd
RIS

120,010

248,300
248,300

0l &t o4

99,000
20,000
35,000
12,000
15,000
17,000

249,200
249,200

60,000
16,000
24,000
14,000

6,000
41,000
21,000
14,000

6,000
42,000
16,000
21,000

5,000
16,200

8,100
5,400
2,700
42,000
18,000
16,000

01 M= dl

ol
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o
Ko
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o
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w
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207 & 51 OH & Hl
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20

H

Cel X1 0

H
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O diolot
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00

OO0l =tHef

ol

OHOMEHMETR
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AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
201 Bt A | 60,000 50,000 10,000
02 3524l 60,000 50,000 10,000

A& & HI S Xl H] 60,000
OMAIBIAIE L A RAFH|I = X 22 60,000
401 Al B 20 HI 500,000 550,000 A50,000
01 Al& H| 500,000 550,000 250,000
O2H UL o A A 350,000
OLH =22 HZ Z A 70,000
OsE8dH L2 A 50,000
OF+-2=FUol =S A A H Y 30,000
AMEAIZINHSHE 137,000 133,000 4,000
201 et A H| 5,000 6,000 A 1,000
01 At 2t2l ] 5,000 6,000 A 1,000
O et==H| 5,000
OANEHRBEIMNLSOZSH = 5,000
202 04| 15,000 15,000 0
01 2L Y| 15,000 15,000 0]
At E 2= 0| 15,000
206 M = Hl 20,000 20,000 0
01 X = Hl 20,000 20,000 0
OJAgHRESHHg 22572 Y 20,000
207 AT IH & h| 60,000 50,000 10,000
03 AIE A 32| 60,000 50,000 10,000
OMESAEAR 60,000
OXMESENH0I 7L 30,000
OY0ol S 18,000
OXNHAI=EH At E 10,000
OUTLI AN P2 2,000
405 XHo&HFE S HI 37,000 42,000 A5,000
01 JHMY =2 ZF SHI 35,000 40,000 A5,000
D=2 (1CH) 10,000
OAAXS 0 A A AE(10H) 25,000
02 T A7 2,000 2,000 0
OS¢ 20,000 502 x23] 2,000
ESECN=ENEXY 22,000 22,000 0
207 A S OH ] 22,000 22,000 0
03 A& F2H| 22,000 22,000 0
OsEd=Xaxyd 22,000
ORH>PY 7,000
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H3r
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2,000,000

2,000,000
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5,665
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Off &t 24

5,000
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AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
D2l Atel S S B A 150,000
=P~ SRR i= = S s | 70,000
HE2AIH (MR HARL) 1,451,157 1,346,025 105,132
el 2l 1,293,677 1,204,829 88,848
ol 2| 1,293,677 1,204,829 88,848
101 @14l 1,260,917 1,172,069 88,848
01 B 902,001 866,217 35,784
JeEs 678,296
O ESH 76,948
-4 76,948,000& x1H 76,948
Oz sH 540,989
-52(29588) 4,028,4002 x1H 122 48,341
-6= (182 8) 3,057,000& x4H 123 146,736
-7=2(1988) 2,817, 1003 «3H 123 101,416
-8=2 (108 8) 2,030,900& x2H x12& 48,742
-9= (58 8) 1,499,200 x2H 123 35,981
- A FRAH(2BEE) 3,328,600 4 H 123 159,773
OFSE=E=y 532,784,400& *1/12 44,399
(OFSFmr =) P = 15,960
- 25401 & 130,000 x1H » 128 1,560
- 204 0l &f~25 0] 8¢ 110,000& x5 122 6,600
- 154 01 &~204 0] 2t 80,000& «4H x12& 3,840
- 104 0l &f~15E O] €t 60,0003 «3H «122 2,160
- 5401 4~104 0] 2t 50,000 «3H «12& 1,800
O=¢% 115,038
OAlzteZ22+¢ 66,435
-HHE 9,886 x10Al 2tx16H x 128 18,982
-ZUE 9,886& *25A 2t+16H «12& 47,453
ONs=g 18,120
- B Xt 40,0003 «17H 128 8,160
- JIEHOHE 20,0003 x34H x12& 8,160
- etz 30,0003 «5H «12& 1,800
oxMdstdle x4 3,707
-NssE 463,300 x2H 43 3,707
OEx=XNZR+Y 6,120
=N 30,0003 x17H x12& 6,120
OfIgZ2f+% 960
-22 40,0003 =2H x128 960
ORgz=s2E=+¢ 50,0003 «3H 128 1,800
OlissRd=Y 8,056
-5 3,057,000& *4 1%+ 1H 128 1,505




AT SoHHEA=ZR M AR
MY #ESAAH(SMNHARL)
Sel: o2y (B9 ®R)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
-HR2YR 3,328,600 4. 1%*x4H »12& 6,551
OE+=gf+% 9,840
-Jls384 6,000
4= .58 50,0003 «2H x12& 1,200
6= ,7= 30,0003 x4H x12& 1,440
- 82 20,0003 «5H ~12& 1,200
JH&EZ (D1 AL) 30,0003 x4H x12& 1,440
JH&EZ2 (AP DIAL) 20,0002 «2H « 12 480
I3 (2EA) 20,0003 «1H «12& 240
SRR 3,840
HRAXNZERR 80,0003 «4H 122 3,840
OZ3 Mgz Al 130,000 x17H »12& 26,520
O E F0tdl 540,989,000 *1/12x60%*23] 54,099
OIS &HH|
617,937,000 *1/12%86%+*1/30x 19 28,048
03 RIAHAZ 2T E + 358,916 305,852 53,064
Od&E2el 28X 46,528
OJdles 1,917,600& x1H x 123 23,012
O&0= 1,917,600& * 1 x320% 6,137
Odxt=¢ 63,9203 1 252 1,598
OF=E=E = 936
- 108 0l &f
(((10= 7,000 )+(14=-10)*2,000& ) *12 936
2)x1g
OP == 720
- i Xt 60,0003 *1H 128 720
(OFNE=3-E N 60,0003 «1H«12& 720
OFEFItHI 600,000 12 x23] 1,200
O&FHZ A 130,000 x1H 122 1,560
OANMZ2 2R
63,9203 x1.5/8%10Al 2 x 1P« 12& 1,439
OCERZR+Y 63,920 +1.5x1FH+42 123 4,603
OF22f=2 63,920 +1.5x1F 4L 122 4,603
OZSRMMEXRS 270,348
OJdles 1,339,200 x8H 123 128,564
Oz 1,339,200& *8H x320% 34,284
O xt==g 44 640 +8H 152 5,357
OF=E=F = 5,304
- 1040l e+ 7E+7,000% «123 «6H 3,528
- 104 0l &f
(((10=+7,000& )+( 122 -10)*2,000& ) =12 1,776
2 )*2Y
ONEs=g 5,520
- B Xt 40,0003 «8H x12& 3,840
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